








In a bank meeting, the eight bank employees Q, R, U, P, D, H, L, and C hold different positions 

- Managing Director (MD), Executive Director (ED), Chief General Manager (CGM), General 

Manager (GM), Assistant General Manager (AGM), Divisional Manager (DM), Marketing 

Officer (MO) and Clerk but not necessarily in the same order. All the positions are in increasing 

order where Clerk is junior to all and MD is senior to all. U is just one position senior to R. D is 

junior to Q. Q is senior to only three persons. L is neither Chief General Manager nor Managing 

Director. P is senior to Divisional Manager but junior to Managing Director. H is not junior to P. 

D is not the most junior. C is an Executive Director.

एक बैंक बैठक में, आठ बैंक कममचारी Q, R, U, P, D, H, L, और C विविन्न पदों पर हैं - प्रबंध वनदशेक (MD), 

कार्मकारी वनदशेक (ED), मखु्र् महाप्रबंधक (CGM), महाप्रबंधक (जीएम), सहार्क महाप्रबंधक (एजीएम), मडंल 

प्रबंधक (डीएम), विपणन अवधकारी (एमओ) और क्लकम  लेवकन आिश्र्क नहीं इसी क्रम में हो। सिी पद बढ़ते क्रम में हैं

जहां क्लकम  सिी से कवनष्ठ ह ैऔर एमडी सिी से िररष्ठ ह।ै U, R से केिल एक स्थान िररष्ठ ह।ै D, Q से कवनष्ठ ह।ै Q 

केिल तीन व्र्विर्ों से िररष्ठ ह।ै L न तो मखु्र् महाप्रबंधक ह ैऔर न ही प्रबंध वनदशेक। P, मडंल प्रबंधक से िररष्ठ ह ै

लेवकन प्रबंध वनदशेक से कवनष्ठ ह।ै H, P से कवनष्ठ नहीं ह।ै D सबसे कवनष्ठ नहीं ह।ै C एक कार्मकारी वनदशेक ह।ै 



In a bank meeting, the eight bank employees Q, R, 

U, P, D, H, L, and C hold different positions -

Managing Director (MD), Executive Director (ED), 

Chief General Manager (CGM), General Manager 

(GM), Assistant General Manager (AGM), 

Divisional Manager (DM), Marketing Officer (MO) 

and Clerk but not necessarily in the same order. All 

the positions are in increasing order where Clerk is 

junior to all and MD is senior to all. U is just one 

position senior to R. D is junior to Q. Q is senior to 

only three persons. L is neither Chief General 

Manager nor Managing Director. P is senior to 

Divisional Manager but junior to Managing 

Director. H is not junior to P. D is not the most 

junior. C is an Executive Director.



458 945 674 775 598 

If three is subtracted from the first digit of each of the numbers and 

then the first and the second digits are interchanged, then which of 

the following will be the 3rd lowest number?

र्वद प्रत्रे्क संख्र्ा के पहले अकं से तीन घटा वदर्ा जाए और विर पहले और दसूरे 

अकं को आपस में बदल वदर्ा जाए, तो वनम्न में से कौन सी तीसरी सबसे छोटी संख्र्ा

होगी?

a) 458 b) 945 c) 674 d)775 e) 598



458 944 674 775 598 

If first and third digits of all numbers are multiply to each other and 

second digit add in result of multiply So what will be the 2nd 

highest number ?

र्वद सिी संख्र्ाओ ंके पहले और तीसरे अकं को आपस में गणुा वकर्ा जाए और 

गणुा के पररणाम में दसूरे अकं को जोडा जाए तो दसूरी सबसे बडी संख्र्ा क्र्ा होगी?

a) 458 b) 945 c) 674 d)775 e) 598



TRP MBA NCP RJD YSR POT

How many consonants are there in the English alphabetical series in 

between the 3rd letter of 2nd word from the left end and 1st letter of 

the last word from the left end? 

अगं्रेजी िणममाला में बाए ंछोर से दसूरे शब्द के तीसरे अक्षर और बाए ंछोर से अवंतम 

शब्द के पहले अक्षर के बीच वकतने व्रं्जन हैं?

a) 11 b) 12 c) 14 d) 15 e) None of these 



TRP MBA NCP RJD YSR POT 

If each letter of each of the word is arranged according to the 

alphabetical series, then after arranging those new word according 

to the dictionary order, find which is the third letter of the word, 

which is fourth from the right end? 

र्वद प्रत्रे्क शब्द के प्रत्रे्क अक्षर को िणामनकु्रम के अनसुार व्र्िवस्थत वकर्ा जाता

ह,ै तो उन नए शब्दों को शब्दकोश क्रम के अनसुार व्र्िवस्थत करने के बाद, शब्द का 

तीसरा अक्षर कौन सा ह,ै जो दार्ें छोर से चौथा ह?ै

a) T b) P c) M d) Y e) R



In the given word ‘SPLENDOR ’, in which consonant changed into its 

previous letter and the vowel into its next letter (according to the 

alphabetical order) and then all letters are arranged in alphabetical order 

from left to right then which of the following letter is fifth from the left 

end? 

वदए गए शब्द 'SPLENDOR' में, वजसमें व्रं्जन अपने वपछले अक्षर में और स्िर अपने अगले 

अक्षर में बदल गर्ा (िणामनकु्रम के अनसुार) और विर सिी अक्षरों को िणामनकु्रम में बाएं से 

दाएं व्र्िवस्थत वकर्ा जाता ह,ै तो वनम्न में से कौन सा अक्षर ह ैबाएं छोर से पांचिां?

(a) R (b) O (c) K (d) M (e) C



In the word ‘BRISKLY’, how many pairs of the letters have the 

same number of letters between them in the word as in alphabet? 

शब्द 'BRISKLY' में अक्षरों के वकतने र्गु्मों के बीच अक्षरों की संख्र्ा उतनी ही ह ै

वजतनी वक िणममाला में ह?ै

(a) Four (b) Two (c) One (d) Three (e) More than four



If ’’624739854’’ 1 is added to all the even number and 1 is subtract 

from all the odd number, then what is the sum of the digits which is 

fifth from the left end and fourth from the right end? 

र्वद ''624739854'' सिी सम संख्र्ाओ ंमें 1 जोडा जाता है और सिी विषम 

संख्र्ाओ ंमें से 1 घटार्ा जाता ह,ै तो बाए ंछोर से पाचंिें और दाए ंछोर से चौथे अकंों 

का र्ोग क्र्ा ह?ै

(a) 12 (b) 9 (c) 11 (d) 10 (e) None of these



Statements: 

A>M>R=F≥Z<X<C<V>B>N 

Conclusion: 

I: A≥Z 

II: Z<V



Statements:

Z<X≤C≤<G<H≤J   

Conclusion: 

I: Z<G 

II: X<J



Statements : 

Q≥W≥E≥R<T<Y≤U≤I      

Conclusion : 

I: Q≥T 

II: R≤I



Statements: 

A<S<D=Z<X<C 

Conclusion:

I: A<C 

II: C≥G



Statements: 

C=V>B>N>M<S<D<F<G

Conclusion:

I: B>M 

II: M<G



In a Certain code 81520 is written as 315124 ,than find the code for 

4125 ?

एक निनित कोड में 81520 का कोड 315124 निखा गया है तो 4125 का कोड क्या

होगा ?

(1) 1497820

(2) 1213140

(3) 0023256

(4) 1315190

(5) None of these



In a Certain code WINDOW is written as 193441 ,than find the code for 

JOKE ?

एक निनित कोड में WINDOW का कोड 193441 निखा गया है तो JOKE का

कोड क्या होगा ?

(1) 1400

(2) 1405

(3) 2345

(4) 1315

(5) None of these



“Never talk between others” is coded as “sm nt ro fi” 

“Others should be helpful” is coded as “ro el ac jq” 

“Never be time specific” is coded as “fi dg el pa” 

“Focus between specific hours” is coded as “hy dg nt ks”

What is the code for “Never together” in the given code language?

दी गई कूट िाषा में “Never Together” के वलए कूट क्र्ा ह?ै

(a)nt ro (b)ro fi (c)fi uy (d)jq nt (e) dg nt



Statements:

Some keys are doors

All keys are locks

All doors are rooms

No room is a hotel

Conclusions:

(I) All hotels being locks is a possibility

(II) No lock is a door

(III) No hotel is a door

(IV) At least some keys are rooms

कथन: 

कुछ चावबर्ां दरिाजे हैं

सिी चावबर्ां ताले हैं 

सिी दरिाजे कमरे हैं 

कोई कमरा होटल नहीं ह ै

वनष्कषम: 

सिी होटलों के ताले होने की संिािना है

कोई ताला दरिाजा नहीं है

कोई होटल दरिाजा नहीं ह ै

कम से कम कुछ चावबर्ां कमरे हैं



Statements:

Some keys are doors

All keys are locks

All doors are rooms

No room is a hotel

Conclusions:

(I) All hotels being locks is a possibility

(II) No lock is a door

(III) No hotel is a door

(IV) At least some keys are rooms



Statements:

No mobile is pencil

All pens are mobiles

All cars are pencils

All pencils are bikes

Conclusions:

(I) No pen is a car

(II) All pens being bikes is a possibility

(III) All cars are bikes

(IV) All bikes are mobiles

कथन: 

कोई मोबाइल पेंवसल नहीं ह ै

सिी पेन मोबाइल हैं 

सिी कार पेंवसल हैं 

सिी पेंवसल बाइक हैं 

वनष्कषम: 

कोई पेन कार नहीं ह ै

सिी पेन के बाइक होने की संिािना ह ै

सिी कार बाइक हैं

सिी बाइक मोबाइल हैं



Statements:

No mobile is pencil

All pens are mobiles

All cars are pencils

All pencils are bikes

Conclusions:

(I) No pen is a car

(II) All pens being bikes is a possibility

(III) All cars are bikes

(IV) All bikes are mobiles



Statements:

Some bikes are cars.

Some cars are traffics.

All traffics are signals.

Some signals are roads.

Conclusions:

I.  Some signals are cars.

II. Some traffics are roads.

III. Some signals are bikes.

IV. Some roads are cars.

कथन: 

कुछ बाइक कार हैं। 

कुछ कार टै्रविक हैं। 

सिी टै्रविक वसग्नल हैं। 

कुछ वसग्नल सडकें  हैं। 

वनष्कषम: 

कुछ वसग्नल कार हैं। 

कुछ टै्रविक रोड हैं. 

कुछ वसग्नल बाइक हैं। 

कुछ सडकें  कार हैं।



Statements:

Some bikes are cars.

Some cars are traffics.

All traffics are signals.

Some signals are roads.

Conclusions:

I.  Some signals are cars.

II. Some traffics are roads.

III. Some signals are bikes.

IV. Some roads are cars.



In the family of 10 persons A, B, C, D E, F, G, H, I and J. There are four 

generation in the family. Only married couple has children. H is brother of 

F’s father. C is sister in law of J who is son of G. J is married to I, who has 

only one sister. E is mother of F who is spouse G. F is grand father of D 

who is brother of B. G has only one grandson.

10 व्र्विर्ों A, B, C, D E, F, G, H, I और J के पररिार में पररिार में चार पीवढ़र्ााँ हैं। 

केिल वििावहत जोडे के ही बच्चे होते हैं। H, F के वपता का िाई ह।ै C, J की वसस्टर इन लॉ 

ह,ै जो G का पतु्र ह।ै J, I से वििावहत ह,ै वजसकी केिल एक बहन ह।ै E, F की मााँ ह ैजो G की 

पत्नी ह।ै F, D का दादा ह ैजो B का िाई ह।ै G का केिल एक पोता ह।ै



In the family of 10 persons A, B, 

C, D E, F, G, H, I and J. There are 

four generation in the family. Only 

married couple has children. H is 

brother of F’s father. C is sister in 

law of J who is son of G. J is 

married to I, who has only one 

sister. E is mother of F who is 

spouse G. F is grand father of D 

who is brother of B. G has only 

one grandson.



Eight persons are sitting around a square table such that four of them sit at the corners 

and rest on the middle of the side. The persons sitting on the corners face opposite 

direction to that of the ones sitting on the middle of the side. The one sitting to the 

immediate left of D does not face outside. E and B are immediate left to each other. C 

faces A. F and D are immediate neighbors of each other. The one sitting 5th to the right 

of the one who is 3rd to the left of A does not sit at the corner. G sits 3rd to the right of 

A. H sits opposite to E.

आठ व्र्वि एक िगामकार मेज के चारों ओर इस प्रकार बैठे हैं वक उनमें से चार कोने पर बैठे हैं और िजुा के

मध्र् में आराम कर रह ेहैं। कोनों पर बैठे व्र्विर्ों का मखु िजुा के मध्र् में बैठे व्र्विर्ों के विपरीत वदशा की 

ओर ह।ै D के ठीक बार्ें बैठे व्र्वि का मखु बाहर की ओर नहीं ह।ै E और B एक दसूरे के ठीक बाएं हैं। C का 

मखु A की ओर ह।ै F और D एक दसूरे के वनकटतम पडोसी हैं। A के बार्ें से तीसरे स्थान पर बैठे व्र्वि के 

दार्ें से 5िें स्थान पर बैठा व्र्वि कोने पर नहीं बैठा ह।ै G, A के दार्ें से तीसरे स्थान पर बैठा ह।ै H, E के 

विपरीत बैठा ह।ै 



Eight persons are sitting around a square 

table such that four of them sit at the corners 

and rest on the middle of the side. The 

persons sitting on the corners face opposite 

direction to that of the ones sitting on the 

middle of the side. The one sitting to the 

immediate left of D does not face outside. E 

and B are immediate left to each other. C 

faces A. F and D are immediate neighbors 

of each other. The one sitting 5th to the right 

of the one who is 3rd to the left of A does 

not sit at the corner. G sits 3rd to the right of 

A. H sits opposite to E.



Eight people are sitting in two parallel rows containing four people in each row, in such a 

way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are 

seated (but not necessarily in the same order) and all of them are facing North. In row-2 E, F, 

G and H are seated (but not necessarily in the same order) and all of them are facing South. 

Therefore, in the given seating arrangement each member seated in a row faces another 

member of the other row.D faces the person who sits 2nd to the left of E. G doesn't face A 

who is an immediate neighbour of D. There is one person sits between G and H. B sits to the 

immediate right of the person who faces E.

आठ व्र्वि दो समानांतर पंविर्ों में प्रत्रे्क पंवि में चार व्र्वि इस प्रकार बैठे हैं वक आसन्न व्र्विर्ों के बीच एक 

समान दरूी ह।ै पंवि-1 में A, B, C और D बैठे हैं (लेवकन जरूरी नहीं वक इसी क्रम में हों) और उन सिी का मखु उत्तर 

की ओर ह।ै पंवि-2 में E, F, G और H बैठे हैं (लेवकन जरूरी नहीं वक इसी क्रम में हों) और उन सिी का मखु दवक्षण 

की ओर ह।ै इसवलए, दी गई बैठने की व्र्िस्था में एक पंवि में बैठे प्रत्रे्क सदस्र् का मखु दसूरी पंवि के अन्र् सदस्र्

की ओर ह।ै D का मखु उस व्र्वि की ओर ह ैजो E के बाएं से दसूरे स्थान पर बैठता ह।ै G का मखु A की ओर नहीं ह ै

जो D का वनकटतम पडोसी ह।ै G और H के बीच एक व्र्वि बैठा ह।ै B उस व्र्वि के ठीक दार्ें बैठा ह ैवजसका मखु 

E की ओर ह।ै 



Eight people are sitting in two parallel rows containing four people in each row, in such a 

way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are 

seated (but not necessarily in the same order) and all of them are facing North. In row-2 E, F, 

G and H are seated (but not necessarily in the same order) and all of them are facing South. 

Therefore, in the given seating arrangement each member seated in a row faces another 

member of the other row.D faces the person who sits 2nd to the left of E. G doesn't face A 

who is an immediate neighbour of D. There is one person sits between G and H. B sits to the 

immediate right of the person who faces E.



Eight persons A, B, C, D, E, F, G and H are sitting in a row but not necessarily in the 

same order. Four of them are facing towards north while four of them are facing 

towards south. No two persons sit adjacent to each other according to the English 

alphabet i.e. (B does not sit adjacent to A and C).C sits third to the left of A. Only two 

persons sit between C and F. A does not sit at the end of the row. E sits 4th to the left of 

B. H sits third to the right of D and faces south. G and H face same direction. Immediate 

neighbours of H face same direction. F faces north direction.

आठ व्र्वि A, B, C, D, E, F, G और H एक पंवि में बैठे हैं लेवकन जरूरी नहीं वक इसी क्रम में हों। उनमें

से चार का मखु उत्तर की ओर ह ैजबवक चार का मखु दवक्षण की ओर ह।ै अंगे्रजी िणममाला के अनसुार कोई िी

दो व्र्वि एक दसूरे के आसन्न नहीं बैठे हैं अथामत (B, A और C के आसन्न नहीं बैठा ह)ै। C, A के बाएं से 

तीसरे स्थान पर बैठा ह।ै C और F के बीच केिल दो व्र्वि बैठे हैं। A पंवि के अंत में नहीं बैठा ह।ै E, B के

बाएं से चौथे स्थान पर बैठा ह।ै H, D के दार्ें से तीसरे स्थान पर बैठा ह ैऔर उसका मखु दवक्षण की ओर ह।ै G 

और H का मखु समान वदशा की ओर ह।ै H के वनकटतम पडोवसर्ों का मखु समान वदशा की ओर ह।ै F का 

मखु उत्तर वदशा की ओर ह।ै



Eight persons A, B, C, D, E, F, G and H are sitting in a row but not necessarily in the 

same order. Four of them are facing towards north while four of them are facing 

towards south. No two persons sit adjacent to each other according to the English 

alphabet i.e. (B does not sit adjacent to A and C).C sits third to the left of A. Only two 

persons sit between C and F. A does not sit at the end of the row. E sits 4th to the left of 

B. H sits third to the right of D and faces south. G and H face same direction. Immediate 

neighbours of H face same direction. F faces north direction.



A certain number of persons are sitting in a row facing to the north. M sits 4th to the 

right G. There is one person sits between D and G. Three persons sit between M and P. 

The number of persons sit between D and M is same as the number of persons sit to the 

right of P. Only one person sits between A and G. Q sits 3rd to the left of T and sits to 

the right of A. Six persons sit between A and Q. Both T and K are immediate 

neighbours of each other. S sits 3rd to the left of K. The number of persons sit to the 

right of K is same as the number of persons sit to the left of D.

एक वनवित संख्र्ा में व्र्वि उत्तर की ओर मखु करके एक पंवि में बैठे हैं। M, G के दार्ें से चौथे स्थान पर 

बैठा ह।ै D और G के बीच एक व्र्वि बैठा ह।ै M और P के बीच तीन व्र्वि बैठे हैं। D और M के बीच 

बैठने िाले व्र्विर्ों की संख्र्ा उतनी ही ह ैवजतनी वक P के दाई ंओर बैठे व्र्विर्ों की संख्र्ा। केिल A और 

G के बीच एक व्र्वि बैठता ह।ै Q, T के बाएं से तीसरे स्थान पर बैठता ह ैऔर A के दाई ंओर बैठता ह।ै A 

और Q के बीच छह व्र्वि बैठते हैं। T और K दोनों एक दसूरे के वनकटतम पडोसी हैं। S, K के बार्ें से तीसरे

स्थान पर बैठा ह।ै K के दार्ीं ओर बैठे व्र्विर्ों की संख्र्ा उतनी ही ह ैवजतनी वक D के बार्ें बैठे व्र्विर्ों की 

संख्र्ा।



A certain number of persons are sitting in a row facing to the north. M sits 4th to the 

right G. There is one person sits between D and G. Three persons sit between M and P. 

The number of persons sit between D and M is same as the number of persons sit to the 

right of P. Only one person sits between A and G. Q sits 3rd to the left of T and sits to 

the right of A. Six persons sit between A and Q. Both T and K are immediate 

neighbours of each other. S sits 3rd to the left of K. The number of persons sit to the 

right of K is same as the number of persons sit to the left of D.



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table.One person sits 

between P and V. Two persons sitbetween V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.

आठ व्र्वि P, Q, R, S, T, U, V और W एक िगामकार मेज के चारों ओर बैठे हैं, वजनमें से 

चार कोने पर बैठे हैं और शेष मेज की िजुाओ ंके मध्र् में बैठे हैं। उन सिी का मखु मेज के कें द्र की 

ओर ह।ै P और V के बीच एक व्र्वि बैठा ह।ै V और S के बीच दो व्र्वि बैठे हैं। P मेज के कोने

पर बैठा ह।ै U, T के ठीक बार्ें बैठा ह।ै R, T के दार्ें से दसूरे स्थान पर बैठा ह।ै Q, R के ठीक 

दार्ें बैठा ह।ै W, P के ठीक बार्ें नहीं बैठा ह।ै



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table.One person sits 

between P and V. Two persons sitbetween V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.


